" Workingy Your Quads”  (Joy, Cn L0)
Quadratic  Formula

x = -b * {b%-4ac

"‘a porcupine of 33mbols"
2o

' Meomins? S-l-ovb? .. Inner &auﬁj?

Al%eb\rq v " Solve for z

- To solve o Froblem, 3\'\/(: o nhame

for example —then write down what we
from  theve.

— call #+ «
3 work

LiKe Sblvinﬁ a m\33+en3:

name

Student X did not worite his/her

on +heir papev .- used coloredl pens:.. writs n  cursive...
'ExamPle ' Inheritance

- 10 divhams (unit+ of curvenc@

= oo Sons, one olaughﬁ'r

— each should receive share,

but sons’ shares  should each
be +toice as much as dauﬂh-l-cr:s
- Call daugh*ltr's share «.

Then each  Sons

(Islamic law)

Share Is
In bl ¢+ 0 =__ + +__
SimPler " 0 = _
Therefore X =__
' Domaghtec  receives __odlirhams. }
© Each son receives __ dirhams.
" Solving the problem came down to " ' the

eiua‘h'on 10=5% , it *Fihdihj A Number for X that
maKes a €4uation: j0 =52,



*In ger\era\) when o(ea\\'rg with an  equation, 1we may °
- the number o Sides

- e number  from Sides

- sicles \mj the  numloer
sicles btj e _ number (net )

- Quadrathc Equaﬁons-'

x“+Ipx =39 3¢°-x +2=17 .. ax*+bx tc =0
A Geometric Approach ¢ Complete the Squave .
Solve i x% +]Dyx =39 .
x 5«

10

- S
N

x| 25 x 10X
X 5%
* Nohice X s Same lenerh n each. =
Rearronge pieces 8 set equal fo 39
x s
x| 2 5% y4
5 5%
%



¢ Comp\e{-e” +he Sc’uare ‘

x 5
= 39 +
d A R R S

(x+2)* = o4
(x+3) = ()

X =_

Check + For x=3, do we have 7(2+ ox =397
Well | _, SO

Fom a  modem viewpoint, we are missina one of the voots...

* Keep in mind  that (= as well ..

(x+3)* = o4
/ Msmg othev nstation :
X#5=%  x+5=-8 x5 = o4
=3
X ¥ = —5 i_\/@

v
2=-5*g



Activity # 8

O Solve 2*+6x =16 Io:ﬁ ComP\eﬁnS the  square.

@Solve x*+ux=5] b}j ComPIC'h'nS the square.

@ Further : SULPPOSC B and C are Pos(-\-ive Numoexs,

Selve x*+2Bx =C Iy completing the square,
@ Furdher ¢ Use +he c}madm‘h‘c formula o solve +he C[uadrcch'c
€quations in O § ®.

See Adivi’rn #%  Hand Out +fr detalls.



